

1) (a) F (b) F (c) F (d) F (e) $\frac{\text{PEOPLE}}{\text{YEAR}}$

$$2) (a) \lim_{x \rightarrow 3} \frac{x^2 - x - 6}{x - 3} = \lim_{x \rightarrow 3} \frac{(x+2)(x-3)}{x-3} = \lim_{x \rightarrow 3} (x+2) = \boxed{5}$$

$$(b) \lim_{x \rightarrow -2} \frac{2 - |x|}{2 + x} = \lim_{x \rightarrow -2} \frac{2 - (-x)}{2 + x} = \lim_{x \rightarrow -2} 1 = \boxed{1}$$

$$(c) f(x) = \frac{-1}{x-5} - \frac{1}{5}$$

$$3) \frac{dm}{dx} = \lim_{h \rightarrow 0} \frac{1}{h} \left[\frac{1}{\sqrt{x+h+1}} - \frac{1}{\sqrt{x+1}} \right] = \lim_{h \rightarrow 0} \left[\frac{\sqrt{x+1} - \sqrt{x+h+1}}{\sqrt{x+h+1} \sqrt{x+1}} \right]$$

$$= \lim_{h \rightarrow 0} \frac{1}{h} \left[\frac{\sqrt{x+1} - \sqrt{x+h+1}}{\sqrt{x+h+1} \sqrt{x+1}} \right] \left[\frac{\sqrt{x+1} + \sqrt{x+h+1}}{\sqrt{x+1} + \sqrt{x+h+1}} \right]$$

$$= \lim_{h \rightarrow 0} \frac{1}{h} \left[\frac{(x+1) - (x+h+1)}{\sqrt{x+h+1} \sqrt{x+1} (\sqrt{x+1} + \sqrt{x+h+1})} \right]$$

$$= \lim_{h \rightarrow 0} \frac{1}{h} \left[\frac{-h}{\sqrt{x+h+1} \sqrt{x+1} (\sqrt{x+1} + \sqrt{x+h+1})} \right]$$

$$= \frac{-1}{(x+1)(\sqrt{x+1} + \sqrt{x+1})} = \frac{-1}{2(x+1)\sqrt{x+1}} \Rightarrow \boxed{\frac{dm}{dx} = -\frac{1}{2}(x+1)^{-3/2}}$$

$$4) (a) \frac{dw}{dt} = \frac{d}{dt} (t^{1/2} + t^{-1/2}) \cos(t^2) + (t^{1/2} + t^{-1/2}) \frac{d}{dt} \cos(t^2)$$

$$= \left(\frac{1}{2} t^{-1/2} - \frac{1}{2} t^{-3/2} \right) \cos(t^2) - (t^{1/2} + t^{-1/2}) \sin(t^2) \frac{d}{dt} (t^2)$$

$$\boxed{\frac{dw}{dt} = \left(\frac{1}{2} t^{-1/2} - \frac{1}{2} t^{-3/2} \right) \cos(t^2) - (t^{1/2} + t^{-1/2}) \sin(t^2) 2t}$$

$$(b) \frac{d}{d\theta} \tan \theta = \frac{d}{d\theta} \frac{\sin \theta}{\cos \theta} = \frac{\cos(\theta) \frac{d}{d\theta} \sin \theta - \sin \theta \frac{d}{d\theta} \cos \theta}{(\cos \theta)^2}$$

$$= \frac{(\cos \theta)^2 + (\sin \theta)^2}{(\cos \theta)^2} = \frac{1}{(\cos \theta)^2} = \boxed{[\sec \theta]^2}$$

